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. Sechon &2 - Propertes of angles Ina drcle

Arc = K a sechon °'r 'nlt Clvcumruenu

-Hu eircle - [
NVSM'LV mca\“’ b"‘

- Imgcr arc

"“J’;w
a'c ()

Cenbhal angle = 15 Hhe ande for med Pning dhe
a\apan’cs of an arc do+he centtr ot Hhe circle

X" 4A03 15 a centeal anglb

[necribed angle = 15 the angjt frmed. btnmmv!s
the endpoints ot an axc b6 point pnthearcle

o L ACB 15 an Isctibed ange
c msehed angle.

‘
®

K dhe mscribed and cenbel argleg n Hhs“aircle
ara svhiaded b‘g Yhe minor are RB.
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EXaM L3
thnmsk ABC> ’\“3 l'k Ver‘\as M O tmk
with radius 8.5¢m . Tne widthsf the thmﬁl(,

1§ 10em. What K s leng-”\ 2 Ge the answer
(A

b Yhe nearcst denth

Soluhon” [ eathof AD= %
Ac= ax85= [em (diamekr)

each £ 0 weckngle s N
we use he pythagoiean Hheorem 4o get fib-

0_14 '92= Cz.
0= 1
)(z-r 00 = 289
Y= 359 100
- 1%9

X=\ 1%1

X= 13T cm
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Tr_\ﬁl\ﬁjl. ADC 18 Ingeribid \n & (wele, cender 0

£ AOR = [DD andk £ COB= 140’ .
Defermac fpe volues of y*, w” and 2.

- Solwbon® (00 + M0+ X= 340

0+ A= 30
X= 36b0-340

X= 130

ZApC s a(u\‘fa\ +
£ pBC 13 Insunbrd-

5=Ji(|zo)
- L0

0c and DA &t cadii, Hhere fore B ROC

lo 1505Ce\4S i
a0t ZY E = IV
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